Stiefel, 2009
DNA Jewelry Lab

Today you will be making a simple model of DNA to keep.  I hope this model will help you to understand the basic structure of DNA. 

DNA is the information storage medium for all living things.  You can think of it as a code stored in the memory of a computer.  It is the code of life, stored in the nuclei of our cells.  DNA is a code with only 4 letters.  It is capable of storing an unlimited number of different messages, just as our alphabet, with only 26 letters, can produce an unlimited number of books.

Your model will be made of beads that represent the different parts of the DNA molecule.  One color of bead will represent the phosphate group, another the deoxyribose sugar, and four more colors of beads will each represent the four nitrogenous bases.  The four letters of the DNA alphabet are the nucleotides C, G, A, and T. These stand for cytosine, guanine, adenine, and thymine.  Adenine and guanine have nitrogenous bases with 2 rings.  Use 2 beads to represent them.  Cytosine and thymine have bases with single rings.  Use one bead to represent these.  The beads are strung together with wire in such a way, as to show how the different components are bonded together.  Please refer to diagram 1 below, and to the available models.

Please tell me which colors you have chosen to represent the following, also make a note next to the Nitrogenous Bases reminding yourself, is it one ring or two:

· Phosphate:_______________________

· Deoxyribose:_________________________

· Adenine:________________________ , ____

· Guanine:_________________________ , ____

· Cytosine:________________________ , ____

· Thymine:__________________________ , ____

Use a piece of wire 24 inches long.  Bend it in half in a U shape and begin stringing on the beads.

Follow the diagram or the model provided, until you have 6-8 rungs of DNA.  Then finish off the strand by making a loop hanger (see diagram 2).  You may decide the sequence of your DNA chain.  Just be sure to always pair A with T and C with G.

Write the sequence of both strands of your DNA in the space below:

Sequence:


____  ____  ____  ____  ____  ____  ____  ____

Complementary sequence:

____  ____  ____  ____  ____  ____  ____  ____

